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We will be comparing means from two independent samples.

We will require that 
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Testing a Mean
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Left-tail
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Two-tail

	3. 
	t-test, 
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Confidence Intervals


[image: image11.wmf]2

2

2

1

2

1

2

/

n

s

n

s

t

E

+

=

a



[image: image12.wmf]E

x

x

E

x

x

+

-

<

-

<

-

-

)

(

)

(

2

1

2

1

2

1

m

m


_1203410974.unknown

_1203414347.unknown

_1203414349.unknown

_1203414350.unknown

_1203414348.unknown

_1203410975.unknown

_1203410590.unknown

_1193397614.unknown

_1203410579.unknown

_1193397454.unknown

_1190440184.unknown

